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#include “pwm. h”
//mFEEDERE
#tdefine Un (D4)
#define Vn (D13)
#tdefine Wn (D8)
#tdefine Hu (D1)
#tdefine Hv (DO)
#tdefine Hw (D2)
#tdefine VR (AO)
#tdefine PWMHz 20000. Of
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PwmOut pwmU (5) ; //5pin Up
PwmOut pwmV(10); //10pin Vp
PwmOut pwmW (9) ; //9pin Wp

void setup() {
pinMode (Hu, INPUT_PULLUP); // set input mode with pull-up MOS for hall sensor
pinMode (Hv, INPUT_PULLUP) ;
pinMode (Hw, INPUT_PULLUP) ;
digitalWrite (Un, HIGH);
digitalWrite (Vn, HIGH);
digitalWrite (Wn, HIGH);
pinMode (Un, OUTPUT);
pinMode (Vn, OUTPUT);
pinMode Wn, OUTPUT) ;

attachInterrupt (Hu, Hulraq, CHANGE); // attach interrupt
attachlnterrupt (Hv, Hvlrq, CHANGE);
attachlnterrupt (Hw, Hwlrq, CHANGE) ;

while (analogRead (VR) > 20) ;

pulseOutput O ;

pwmU. begin (PAMHz, 0.0f); //5pin JE#A 50us = 20kHz: /N)LAHE 0%

pwmW. begin (PWMHz, 0.0f);  //9pin E#A 50us = 20kHz; /SJ)LAHE 0%
} pwmV. begin (PWMHz, 0.0f); //10pin JEI#A 50us = 20kHz:; /NJLRHE 0%

void loop() {
float speed;
speed = analogRead (VR) * 100 * 5.0f / 3.3f / 1024.0f; //AOixF DA H{EZ0~100% (=%
if (speed > 100) speed = 100; //') S v AR NHE
if (speed < 0) speed = 0;
pulseQutput O ; //78LRT 1 —F 4 ZHAIZRE
} delay (1), //#BFbBREIEELIZE

// Hall sennsor Interrupt

//R—ILt S EAH

void Hulrq() { //U-Hall change interrupt
pulseQutput O ;

w

void Hvlirq() { //V-Hall change interrupt
pulseQutput O ;

void Hwlirq() { //W-Hall change interrupt
pulseQutput O ;

// change pulse output pin
[/R—ILE oY DEEIZEHE -PWE B
void pulseOutput () {

int hall;
hall = 0; // check hall sensor state
hall = digitalRead (Hw) ;
hall |= digitalRead(Hv) << 1;
hall |= digitalRead (Hu) << 2;
hall & 0x07;
switch(hall) {
case 1: //0

digitalWrite(Un, 1);

digitalWrite(Vn,0); /WHE7—LZPIN-VET7—LZONL CERZRT
digitalWrite (Wn, 1);

pwmU. pulse_perc(0) ;

pwmV. pulse_perc(0) ;

pwmW. pulse_perc (speed) ;

break;

case 3: //60

digitalWrite(Un, 1);

digitalWrite(Vn,0); //UBME7—LZPIN-VEET7—LZONL CERZRT
digitalWrite (Wn, 1);

pwmU. pulse_perc (speed) ;

pwmV. pulse_perc(0) ;

pwmW. pulse_perc(0) ;

break;

case 2: //120



digitalWrite(Un, 1);
digitalWrite(Vn, 1);
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digitalWrite(Wn, 0); //UM L7 —LZPW-WHET7—LZONL TERER

pwmU. pulse_perc (speed) ;
pwmV. pulse_perc(0) ;
pwmW. pulse_perc(0) ;
break;

case 6: //180
digitalWrite(Un, 1);
digitalWrite(Vn, 1);

digitalWrite(Wn, 0); //NHET7 —LZPWN-WHET7—LZOINL TERERT

pwmU. pulse_perc(0) ;
pwmV. pulse_perc (speed) ;
pwmW. pulse_perc(0) ;
break;

case 4: //240

digitalWrite(Un 0); //NHE7 —LZPW-UET7—LZOINL TERERT

digitalWrite(Vn, 1);
digitalWrite (Wn, 1);
pwmU. pulse_perc(0) ;
pwmV. pulse_perc (speed) ;
pwmW. pulse_perc(0) ;
break;

case 5: //300

digitalWrite(Un 0); /MW L7 —LZPW-UET7—LZONL TERER

digitalWrite(Vn, 1);
digitalWrite (Wn, 1);
pwmU. pulse_perc(0) ;
pwmV. pulse_perc(0) ;
pwmW. pulse_perc (speed) ;
break;

default:

break; //fR—ILt Y HARIERLGEZERLIFIEMEE LGN



